EARAROBEEIERT — 2 N— IBISH —F

2015510548 (B) AEIBR#H9H

12R paEX)-A

1000AF

(E&

(4518) 2

‘ [R1%] & ‘ [REBE] — | & (%) 1800 B

[~®%] 1 % 10,500,000 @ 2 7 :4,200,000 @ ~ 3 #&:2,600,000 ™

4 7% 11,600,000 53 1,050,000 F

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
> - o4 | R 1:52.2 9-9-2-1 [38.0[102.0| 6 496 | PIIEIEL (W)
117114 2<TEXAL T4 — [B] g 57.0 (=) (-10) 27 %E (#)
L:ixA1=Yr—2 B:RY—-3I—T1 FREG
N 3 o4 | BUEMER 1:52.5 9-10-7-4 | 37.5| 99.1 | 2 510 | REBEX (RR)
olglg| *T>¥avuay 57.0 ) () | B
R:TUVHAZRIL K B:o—IE-Ny 7 [EE2Te
2 -_ 44 | BFER 1:52.7 16-16-16-14| 36.7 | 97.1 | 9 456 | RIS (BH)
EHQ ®IF/NILEZ A55.0 (1 1/4) (g | B0
B ALINT Ry TR BIX /LS —F Eal=Les
TN # 3 | BERE 1:53.2 13-13-11-7 | 37.7 | 92.9 | 3 444 | DIAE (EX)
4|5|9| 2V/N[B] 4520 @ (o) | B mE
R:AREFY BiELhrIUZTX BINE T 7 — L
N o4 | fBKHE— 1:53.3 14-15-14-10| 37.5 | 91.9 | 4 472 | BRE (ER)
EHH Tt 57.0 (3/4) a) |BREHLY
T4 =TA2NNT b BEYTLIN= (B) A -FRL—-ya>BaEI7
. = 4 6 | =R 1:53.4 14-13-14-12| 37.7 | 91.1 | 7 466 |FEE (W)
61111 RZXHhZ /)R 57.0 (1/2) +2) KHRERX
L:Z2ZAHRR BIYIRTA 814 75 Kis
S R 4 3 | BER 1:53.4 9-11-11-9 [ 37.9| 91.1 | 13 | 460 |ERE#E (FH)
711l | ¥>EHZT A53.0 (\F) (<o) | EEIER
ihzxeFx) B:O—-LIA—-KR— hEE AR
JF3 f 3 | NEEE 1:53.5 55-4-3 |38.9|90.8 | 1 | 486 |EHERF (RR)
81713 53.0 (5 E) (+1g) | EFEAR—ILT 12T X (15)
X LTHANAN B:YTAHE R J—HLTr—L
= S o4 | AVHEGR 1:53.9 7-7-7-7 | 38.7| 87.1 | 15 | 486 | BEEHL (EX)
9 6| MFXFFvFay 57.0 21/2) 10 | B0 SEATIHKY—ER
RV by THY B4 FTLY2—F b R
3 # 5 | SEli— 1:53.9 12-12-13-15| 38.1 | 86.7 | 10 | 628 | THIEEZ (=)
10/8|15| ¥3— 7> 57.0 (74=) 42) |Ho Ho Y17 FNAE
Z:Doyen F:Y wINZ—XJ 1 XIN— H—L— - TN T7— LERS
S it o4 | JIBEZ 1:53.9 4-4-5-6 |39.0| 87.4 | 12 | 466 |/IFEZ (B’H)
T4 %X hA 55.0 (1VF) (-4) BRERET
R:F1—TZAh4 B:R—vwFa-t L e ]
WA, T 4 3 | AEEN 1:54.1 7-7-10-16 | 38.4 | 85.1 | 8 492 | #HILBA (F}®)
g7y K 55.0 (1 1/4) (-8) (%) &4/ 972
A:Elusive Quality B:%4 7 v KX X Slrae]
N = :54. -3-3- . . AHE (ER)
TLATTY h B4 s 1 (514)3 3-3-3-4 |39.7| 84.6 | 14 g? i
A% X BN Gr—2TYT =te
— N BERK :54. —1-1- . . BB (E®)
e/ F>n—% [B]) 4 3 553_0 1(524)6 1-1-1-2 | 40.5| 82.9 | 5 (4_726) (*i) o
L:F 1 —=TAHhA B:INTH-IL FU I NS
— 3 | MEEZ 1:55.1 5-5-9-12 | 39.7 | 77.9 1 472 | BAFE (FEE)
T4 TIVT i 53.0% 3) ! -2) () /—ZEILX
L:xrinqao— BN RNTU—I HREHE /-
. = £ 5 > EAHN : 05— EHRZEE (FR)
S IN— S — G g | CEEA 1.(576).2 2-2-5-10 | 41.2| 71.2 | 16 (i?; mla’awgzzﬁ
L:xF1=gr— B:TUVXT1> AL
@ 71 L
) 50.6-38.1
NA> &AL | 12.8-10.8-13.1-12.3-12.6-12.5-12.2-12.2-13.7
® I —F—@EBIERL
13=3r= 3,4,10,7(8,13)-(5,6) (2,16,14)15,9(1,11)12
2= = 3-4,10,7(8,13)-(5,6)14,16,2,15(1,9) 11,12
Gal=7r= 3,14-10,13(4,7) (6,16)8,5(2,9)15(1,11)12
43—+ — (3,%14)-13(10,16)7-(6,9)2(4,11) (8,1)12,15,5
[ N3
H OB 14 2,040 714K 14-16 1,170 e E 7-8 670M 3EE | 12-14-16 21,810
BB 14 450M 12-14 4,940 B = 14-16 3,430M 3EE | 14-16-12 135,300M
16 190 12-16 1,960 | | /& B 14-16 7,620
12 630M

ABICOVWTRDTEEERROODE. TR LIV,




